HoZR IR B s B RO B R e S i ARy PR 4K 2023 JR B SRR K

— REFRITHEAR
RIS B = B DR 1561 < < T X IO 10 4 98 23 XX 18 080 20 00 A DR U B AR D A DR <
B CATIED XN L) e 3 28 X XU R 8 R 8 X AZ AR TR R 8

= EEREK (A)

TR THAE FEHETRE (%)
SR 4 0. 0024
sk AR 4 (ATidk) 0. 0008
= MERERHK
Lo REHAE
PR[5S A 1] T

1R 0. 20

2K 0.25

3K 0. 28

4R 0. 30

5K 0. 32

6 K 0.33

7R 0.35

8 K 0. 36

9 K 0.37

10 K 0. 38
11K 0. 39

12 K 0. 40

13 K 0. 43

14 K 0. 47

15 K 0. 50

16 KX 0.53

17 R 0.57

18 K 0. 60

19 % 0.63

20 K 0.67

21 K 0. 70

22 K 0.73

23 K 0.77

24 K 0. 80

25 K 0. 83

26 K 0.87




27 R 0. 90
28 K 0.93
29 K 0.97
30 K 1. 00
2. UG/ THAREAT %
2250/ U A 3 R
(0, 35%) (0. 35, 0.55)
[35%, 40%) [0.55, 0.60)
[40%, 50%) [0.60, 0.75)
[50%, 65%) [0.75, 1.00)
[65%, 80%) [1.00, 1.25]
>80% (1. 25, 2.00]
3. ERR
EW (A TR
(0, 19] (0.2, 0.5]
(19, 39] (0.5, 1.0]
(39, 59] (1.0, 4.0]
(59, 69] (4.0, 14.0]
(69, 79] (14.0, 60.0]

H: REERFIIHHRERBEAR, R ERAMEETHEERE, SRESEGHLR

RS HATHRE o

M. BRRERL

Lo WEORRS N BT 3 L e IR I 2

IRAAT 9B SE

AT R R
HUR [0.5, 1.0]
TR (1.0, 2.0]
WAT (2.0, 3.0]
KiiAT (3.0, 5.0]
LR AR 48 B R 6 N BT 75 HH BT 28 e RS 3 SR LA T 9 B A 7 4 T
2. WEARESE N ER MR8 7 T bR 75 5 18 e 1) K
A LR 6 N T R L S 3 78 e R 9 B SR P XU R
R R [0.5, 1.0]
R XU (1.0, 1.5]
HH XU (1.5, 2.0]
Hh e AU (2.0, 2.5]
e AU (2.5, 3.0]
W v R (3.0, 3.5]
LR R 40 B R 6 A T BR oLl J e 3 28 e R 9 B R mT e M A T T o
3. BHIREE N ERRR N
AR RT3
B PRGN\ Ak RREAR P 0T [0.5, 0.8]
B ORI A Al R AR FE — (0.8, 1.0]
B RG22 (1.0, 2.0]




FR ORI AR 8 52 O 16 A\ fi A B2 X8 7 DR AU 2E AT 1

4, TRIE XS B K

USEPiressil/ g kS
T A B KT [0.5, 1.0]
YT R B — R (1.0, 1.5]
I R KPR 2 (1.5, 2.0]

IRYEIE R . BT DSR2 1 DU R A A R N SR B VAl 1 52 T B R A

P AR FAE L -

1. FHEERBC MOV ERR R

2 B RO AR EAER A eI, R EI 1. 0,

3+ A R BOTCK NAUE BANTE L3 97 R A IR, MRS 13 9% R SRR A (B T LA
iE o



